2nd K	yu Section 2: Application Test	Answer 2-2-1
1	(1) (Answer) $S = \frac{\sqrt{3}}{4}(6x^2 + y^2)$	
	(2) Since the sum of the perimeters of A and B is a constant value L , we have	Hence, for $0 < x < \frac{L}{6}$, S has the minimum value
	$6x + 3y = L$ $y = -2x + \frac{L}{2}.$ (*)	$\frac{\sqrt{3}}{60}L^2$ at $x = \frac{L}{15}$.
	Substituting (*) into $S = \frac{\sqrt{3}}{4}(6x^2 + y^2)$ gives	From (*), we have $y = \frac{L}{5}$. Therefore, we obtain
	$S = \frac{\sqrt{3}}{4} \left\{ 6x^2 + \left(-2x + \frac{L}{3}\right)^2 \right\}$	$\frac{y}{x} = 3$.
	$=\frac{\sqrt{3}}{4}\left(10x^2 - \frac{4L}{3}x + \frac{L^2}{9}\right)$	(Answer) Minimum value of S is $\frac{\sqrt{3}}{60}L^2$, $\frac{y}{x} = 3$
	$=\frac{5\sqrt{3}}{2}\left(x^2 - \frac{2L}{15}x\right) + \frac{\sqrt{3}}{36}L^2$	
	$=\frac{5\sqrt{3}}{2}\left(x-\frac{L}{15}\right)^2-\frac{\sqrt{3}}{90}L^2+\frac{\sqrt{3}}{36}L^2$	
	$=\frac{5\sqrt{3}}{2}\left(x-\frac{L}{15}\right)^2+\frac{\sqrt{3}}{60}L^2.$	
		The Mathematics Certification Institute of Japan





4 (1)
$$a_n = 18 + 12(n-1) = 12n + 6$$
.
Hence, we have
 $b_n = \sum_{k=1}^{n} (12k+6)$
 $= 12 \cdot \frac{n(n+1)}{2} + 6n$
 $= 6n^2 + 12n$.
(Answer) $b_n = 6n^2 + 12n$, we have
(2) Since $b_n = 6n^2 + 12n$, we have
 $S_n = \sum_{k=1}^{n} (6k^2 + 12k)$
 $= 6 \cdot \frac{n(n+1)(2n+1)}{6} + 12 \cdot \frac{n(n+1)}{2}$
 $= n(n+1)(2n+1) + 6n(n+1)$
 $= n(n+1)\{(2n+1)+6\}$
 $= n(n+1)(2n+7)$.
(Answer) $S_n = n(n+1)(2n+7)$

5	(Answer) The least number of operations 12.	Maximum integer 111, minimum integer 44.
---	---	--

6 Drawing a line from point B perpendicularly to line segment CD, we let H be the point of intersection. Since

```
\angleHBE = \angleDAB = 15°,
```

we have

 \angle HBC = \angle HBE - \angle CBE = 6°.

Drawing a line from point B perpendicularly to line segment AD and letting I be the point of intersection, BI = HD.

Therefore, the required height of the ramp is

CD = CH + HD= CH + BI = BC sin 6° + AB sin 15° = 22 \cdot 0.1045 + 30 \cdot 0.2588 = 10.063 \approx 10.1 (m).

(Answer) 10.1 m

7 Let

$$f(x) = ax^2 + bx + c, \quad (3)$$

where $a(a \neq 0)$, b and c are constants. Then we have

$$f'(x) = 2ax + b . \qquad \textcircled{4}$$

Substituting ③ and ④ into (x-1)f'(x) = 2f(x) + x - 3 gives

(x-1)(2ax+b) = 2(ax²+bx+c)+x-3 2ax²+bx-2ax-b = 2ax²+2bx+2c+x-3(2a+b+1)x+(b+2c-3) = 0.

Since this must be an identity for x, equating the coefficients on both sides, we have

2a+b+1=0, (5) b+2c-3=0. (6)

From (2) and (4), we have

4a+b=3. (7)

Solving the system of equations \bigcirc and \bigcirc gives

a = 2, b = -5.

Substituting b = -5 into (6) gives

$$c = 4$$
.

Therefore, the required quadratic function is

$$f(x) = 2x^2 - 5x + 4.$$

(Answer) $f(x) = 2x^2 - 5x + 4$